(11d)
2 2
V = nJ; [(y2 -6)° —(6—4)2]dy = 7T‘L)[(y4 -12y? +36) —4dy = njj y* —12y? +32]dy
:n%y5—4y3+32y§ :%T
(13) vy, =X, Yy, =4x—X?
Y=Y,  X2=4x=-%X" o 2X° =4x=0 = X*-2Xx=0 = X* -4x+1=1< (x-1)* =1
o (X=1) =%l x=1%1
0 x=0, 2 (pointsof intersection)
2
(@) V= nﬁ [(4x— x%)? - (xz)z]dx = ITJ(')[(16X2 -8x% +x*) - x“]dx = 7TJ:)116X2 —8xi dx
s s _g
B
(b) R=6-x% r=6—(4x—x2)
R* = (6-x%)* =36-12x" + x*
2 =(x*-4x+6)* = x" —8x® + 28x* —48x + 36
R® —r® =36-12x" + x* — (x* —8x> + 28x” — 48x + 36) = 8x® — 40x* + 48X

V= nf[8x - 40x? +48x]dx n%x —ﬂx + 24X Zg_%

15 vy, =x y=3 x=0 (revolvearoundthellney—4)
0<x<3
R=4-x, r=4-3=1

V= an[(4— X)? —]]dx: nIOS[(16—8x+ x?) —]]dx: n-ﬂlS—8x+ xﬂ dx
§5X 4x* + = x %—1871

a vy =

1, y, =0, x=1, x=4
X

V= nJ' Q.G gmjx njg %ij

XDE

Inx+—5 %In4——



